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HOL (7> FEVRUZOLAY | me/0]0.001|0.001 5 |0.00 1 AT [0.00 1 K45 | 0.00 1A | 0.00 1 AR | 0.0224F
HO2 (772 ROZFDILAEY mg/0 |0.000241i | 0000243 [0.0002 435 | 0000243 [0.00024&3 | 0.0002 [0.00284 F (¥ &)
HO3 [=o 7 VR OZEDLEY mg/0 10.001R{#5|0.00 14375 0.00 1 7| 0.00 1 AT [0.00 1 435 |0.00 14w 0.02L4F
HO5 |1,2-Y/unxiy mg/0 |0.000474i# | 0.0004 A5 | 0.0004 45| 0.0004 A 4ifi | 0.0004 435 | 0.0004 44| 0.004LL T
HO8 [fLxy mg/0 ]0.001R{#5|0.00 14375 0.00 1 K7 [0.00 1 AT [0.00 1 35| 0.00 L ATmE|  0.4L4TF
HO9 |[740EEY (2-=F ~FioL) | ne/l - 0.002 - - - -| 0.08LLF
H13 [¥Z7ma7Eh=KIL mg/0 - - 0.002 0.001 0.002 —0.01LL F (& &)
H14 |[fakrmZ—1 mg/0 - - 0.005 0.002 0.004 =0.02LL F (& &)
H15 | -1 0.01 A5t - - - -l TF
H16 |f&EEiER mg/0 - 1.1 0.3 0.8 0.5 - 1L
H17 |IAvDs, <72y 5%50E) | ng/t 64.3 65.3 65.7 90.5 66.5 68.0 10~100
B18 (oW RUZEDOLAEY | me/e]|  0.025 |0.0055K1m |0.005A [0.0054:1i#|0.005Aw | 0.134 |  0.01LAF
H19 | b mg/0 5.8 6.6 - - -| O0.1A0#|  208LF
H20 [1,1,1-RJrmmTzgy mg/0 |0.001A{i#5|0.00 1A | 0.00 1 A3 {0.00 1 AT [0.00 LA |0.00 LA 0.3L4F
H21 [(#FA-t-7FAxm—7 L (MTBE) | me/0 |0.00 14| 0.001 3 |0.00 1 KT [0.00 1 45| 0.00 I A5 | 0.00 1 A&t | - 0.0224F
foz (0 e [me| 5.7 1.5 - - - 65| sur
H23 |R5RE (TON) 1 0 0 0 0 2| 3TONLLF
H24 |7FE5REW mg/0 82 94 - - - 117 20~200
H25 | -3 2.7 | 0L 0.1Am| 0. 1K | 0. 145 1.1 15
H26 |pHfE 7.5 7.3 7.3 6.9 7.4 8.6 7. SRR
H27 (R G7 T HE) -0.8 -1.0 - - - 0.4 —1~0
H28 (TR {®/m1 - - 4 6 5 —|2000L47F (&)
H29 [1,1-vZumxFLo mg/0 ]0.001R{#5|0.00 14375 0.00 1 7| 0.00 1 A [0.00 1 35 |0.00 LA mE| 0.1 TF
H30 |TAI=T LK OEDILAEY| ne/0 0.04 0.05 0.04 | 0.02 0.04 0.05 0.1LLF
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HOl |7 FEROZEDLAY | ne/t 0.00 1A 0.001 A7 0.001 A7 0.00 1A 0.02LAF
HO02 |7Fr RUZEDILAY mg/0 0.0002:K4#5|  0.00025K3i5|  0.0002:K3M5|  0.0002K3i5] 0.002L4 F (I &)
HO3 |=o VB OEDILAEY mg/0 0.00 1A 0.001 A7 0.001 A7 0.00 1A 0.02LA F
HO5 [1,2-Y7unxzy mg/0 0.0004Aii 0.0004A4%|  0.0004 AT 0.0004AiE|  0.004LLF
HO8 [Pz mg/0 0.00 1A 0.001 A7 0.001 A7 0.001 A7 0.4L4F
HO09 |74V EY 2-=F L~Fi /) | mg/l - 0.004 - - 0.08LLF
H13 |[YZuorvh=RL mg/0 - - 0.001 0.002 [ 0.01LA F(EE)
H14 |fakras—1 me/0 - - 0.003 0.004 | 0.0221 F(E &)
H15 [R3E - 0.01 - - 1F
H16 | me/0 - 1.1 0.4 0.4 1B F
H17 |[pAsws~s 5oy B5GEE) | ne/t 95.5 92.0 94.0 93.6 10~100
H18 [~ W RUOZDLED mg/0 0.0057ii 0.005A4it 0.005Aii 0.005A4if 0.01LLF
H19 |3 aR e mg/0 44.9 29.1 - - 20LLF
H20 |1,1,1-M)ronxzzy me/0 0.001 it 0.001 itk 0.001 A 0.00147E|  0.3LUF
H2l |AFr-t-FFro—Tn (MTBE)| me/o 0.001 35 0.001 Ak 0.001 Al 0.001K3w  0.02LATF
foz | e sy | 10 1.2 1.1 - - swE
H23 [RAFRE (TON) 0 0 0 0 3TONLLTF
H24 |ZRREEY mg/0 115 126 - - 20~200
H25 | i3 0. 1A 0. KT 0. 175 0. KT 1
H26 |pHfi 6.5 6.7 6.8 7.0 7. 5FREE
H27 R (G 7ITHER) -1.6 -1.4 - - —1~0
H28 |TE)E 528 {8/ mL - - 22 4 | 2000LLF (B 7€)
H29 |1,1-¥/maz=FL mg/0 0.001 i 0.001 A7 0.001 A7 0.001 A7 0.1LAF
H30 |7A=0AROZO(LAY | ne/t 0.024 i 0.024i% 0.024% i 0.024i% 0.1LLF
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HOl |7y FErROZOLA| me/e [0.001A40# | 0.001 4w 0.001 A ~| 0.001 AR 0.02B4 F
HO02 |77 RUZEOLEDY me/0  [0.0002K47|0.00024i# [0.0002 A7 -[0.00027wi ] 0.0022 F )
H03 |=osn ROZo/a| me/e [0.00155| 0,001 | 0.001 41 | 0.001A|  0.0224F
HO05 |1,2-Y7unxiy me/0  [0.00045K455|0.0004 45 [0.0004 A7 -[0.0004K5m| 0.004LLF
HO8 [Pz me/0 [ 0.0015 | 0.00 144 | 0.001 A5 —| 0.001 A 0.4BLF
HO09 [741EY @-=Fi~Fiol) | me/l - 0.001 - -10.00177#| o0.0881F
H13 |Y7mR7®b=kL me/0 - - 0.002 - 0.003 [0.01L4 F(E &)
H14 [fakrm7—n mg/0 - - 0.008 - 0.005 |0.02L4 F(EFE)
H15 |pss - 0.017 - -| 0.0 1MF
H16 |fEREsR me/0 - 1.3 0.3 - 0.7 LELF
H17 |reos~rxoys%@E) | me/0 81.1 81.5 82.4 - 81.6 10~100
18 |[wv W ROZOLAY| me/o 0.014 | 0.005wi | 0.005 A Vil - 0.005K]|  0.01L4F
H19 [ mg/0 1.7 1.7 - - 2.5 200F
B20 |1,1,1-F)rnnzzy mg/0 | 0.0014i| 0.001 K35 0.001 AT -1 0.001AKJm|  0.3LF
H21 |77 Fr=—rrmmee | me/e [0.001A4# | 0.001 43w 0.001 A ~| 0.001 AR 0.02B4 F
T
22 g%vyﬁ‘/ﬁéﬁWM‘ﬁ% me/0 5.1 1.7 - - 1.7 3BLF
H23 |R5ERE (TON) 1 0 0 - 0| 3TONLLF
H24 |ZZFEIREY mg/0 65 106 - - 99| 20~200
H25 | i3 31| O.LAM| 0.1 - 0.1 1
H26 |pHf# 8.0 7.7 7.7 - 7.7 7. 5%EE
H27 &tk Gr 7T %) 0.0 -0.4 - - -0.4 —1~0
H28 |fEm sl s {#/mL - - 3 - 2 1200084 F (55)
H29 |1,1-¥/mnxFLy me/0 [ 0.0015 | 0.00147i | 0.001 A5 ~| 0.001 A |  0.18LF
B30 |[7AR=vaROEoksn| ns/o 0.10 0.07 0.07 - 0.07]| O0.1LLF
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HOl (7o FELROLEDIEY | me/e 0.001K4i#| 0.001A%m| 0.001AK4#| 0.001A4m| 0.0284F
H02 |75 RUZEDILAY me/0 | 0.00024i| 0.00027K7| 0.000245i| 0.0002A75i|0.00224 F (5 7E)
HO3 |=vZ7 VR OEDILEY mg/0 0.001K4i#| 0.001A4m| 0.001AK4#| 0.001A4m| 0.0280F
HO5 |1,2-Yrmnxgy me/¢ | 0.00047K7wi| 0.00047K7| 0.00044%| 0.0004A%| 0.004LLF
HO8 [MLTy mg/0 0.001A4Ji| 0.001A4M| 0.001A7| 0.001A4]| 0.4 F
HO9 |7HLMEY (2-=FA~FI )| me/l - 0.001 - 0.001 0.08LLF
H13 |Yrma7wh=hL mg/0 - 0.001A¥ - 0.002 [0.01LL F ()
H14 [fkres—1 mg/0 -l 0.001A1ifs - 0.009 [0.0224 F(F &)
H15 [p3E - 0.01 -l 0.01A 1T
H16 |Fs#% me/0 - 0.4 - 0.4 IBLF
H17 |[BAvyh~7 3o NEGEE) | ng/o 65.3 66.9 52.8 82.5| 10~100
H18 |~ B ROZDILAEY mg/0 0.005Ai | 0.005A4 i 0.009 | 0.005A] 0.01LLF
H19 | me/0 19.9 11.6 14.1 25|  20LF
H20 |1,1,1-pUzmm=sy mg/0 0.001Ji| 0.001A4M5| 0.001KJi| 0.001A44|  0.304F
H21 |[#FA-t-7Fx—7 L (MTBE) | me/0 0.001K4i#| 0.001Am| 0.001AK4#| 0.001A4m| 0.0284F
foz (T e s | 9/ 0.8 0.8 0.9 15[ 8w
H23 |RA5GRE (TON) 0 0 3 0| B3TONLLTF
H24 [ZFIREW mg/0 85 93 93 102 20~200
H25 | I3 0. K7 0. 175 2.9 0. 1A 1
H26 |pHfE 6.9 7.1 6.8 7.7 7. s
H2T |t (T4 T #6850 -1.4 -1.2 -1.8 -0.4 —1~0
H28 |Em a5 {#/mL - 4 - 4 120004 F (&)
H29 [1,1-YZ7mpzFLyo mg/0 0.001A4Ji| 0.001A4M| 0.001A7| 0.001A4]| 0.1F
H30 |[7A=DAROZEOAEY | ne/o 0.02K7|  0.020i|  0.027K7 0.06 | 0.1LF
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